
1. Daily Calculations Questions
1 2 3

36 – 10 = 2/3 of 30 = 9 divided by 9 = 

¼ of 20 = 300 - ? = 200 ? X 3 = 24

12 x 5 = 100 + 35 = 342 + 60 =

77 – 50 = 742 – 130 = 50 – 17 =

70 + ? = 100 2 x ? = 400 190 – 103 =



1. Daily Calculations Answers

1 2 3

36 – 10 = 26 2/3 of 30 = 20 9 divided by 9 = 1

¼ of 20 = 5 300 – 100 = 200 8 X 3 = 24

12 x 5 = 60 100 + 35 = 135 342 + 60 = 402

77 – 50 = 27 742 – 130 = 612 50 – 17 = 37

70 + 30 = 100 2 x 200 = 400 190 – 103 = 87



2. Daily Calculations Questions

1 2 3

46 - 16 = 6 x 2 = 16 divided by ? = 4

16 divided by 2 = 12 divided by ? = 4 500 – 250 =

60 – 1 = 47 + 10 = 26 + 151 =

7 + ? + 6  = 18 101 x 3 = 989 - ? = 950

5 x 3 = 300 – 150 = 200 x 4 =



2. Daily Calculations Answers

1 2 3

46 - 16 =30 6 x 2 = 12 16 divided by 4 = 4

16 divided by 2 = 8 12 divided by 3 = 4 500 – 250 = 250

60 – 1 = 59 47 + 10 = 57 26 + 151 = 177

7 + 5 + 6  = 18 101 x 3 = 303 989 - 39 = 950

5 x 3 = 15 300 – 150 = 150 200 x 4 = 400



3. Daily Calculations Questions

1 2 3

80 divided by 10 = 261 + 58 = 562 – 60 =

20 – 9 = 742 – 9 = 3 x 9 = 

36 + 10 = 60 + ? + 20 = 120 45 divided by 5 =

12 x 2 = 4 x 8 = 1/5 of 35 =

42 – 20 = 24 divided by 6 = 27 + 156 =



3. Daily Calculations Answers

1 2 3

80 divided by 10 = 8 261 + 58 = 319 562 – 60 = 502

20 – 9 = 11 742 – 9 = 733 3 x 9 = 27

36 + 10 = 46 60 + 40 + 20 = 120 45 divided by 5 = 8

12 x 2 = 24 4 x 8 = 32 1/5 of 35 = 7

42 – 20 = 22 24 divided by 6 = 4 27 + 156 = 183



4. Daily Calculations Questions

1 2 3

7 x 3 = 842 – 213 = 392 – 81 = 

12 + ? = 20 1/5 + 3/5 = 1/4 of 44 = 

25 divided by 5 = 275 + ? = 300 64 dived by 8 =

20 – 2 – 9 = ¼ of 56 = 409 + 102 =

2/3 of 21 = 7 x 8 = 205 + 140 =



4. Daily Calculations Answers

1 2 3

7 x 3 = 21 842 – 213 = 629 392 – 81 =  311

12 + 8 = 20 1/5 + 3/5 = 4/5 1/4 of 44 = 11

25 divided by 5 = 5 275 + 25 = 300 64 dived by 8 = 8

20 – 2 – 9 = 9 ¼ of 56 = 14 409 + 102 = 511

2/3 of 21 = 14 7 x 8 = 56 205 + 140 = 345



5. Daily Calculations Questions

1 2 3

17 + 82 = 894 – 90 = 409 – 19 =

3 x 3 = 36 divided by 4 = 4/5 – 1/5 =

97 – 30 = 340 + ? = 357 12 x 8 =

¼ of 16 = 9/11 – 7/11 = 900 - ? = 450

20 divided by 2 = 1/5 of 50 = 48 divided by 4 =



5. Daily Calculations Answers

1 2 3

17 + 82 =99 894 – 90 = 804 409 – 19 =390

3 x 3 = 9 36 divided by 4 = 9 4/5 – 1/5 = 3/5

97 – 30 = 97 340 + 17 = 357 12 x 8 = 96

¼ of 16 = 4 9/11 – 7/11 = 2/11 900 - 450 = 450

20 divided by 2 = 10 1/5 of 50 = 10 48 divided by 4 = 12


